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500004

EE\‘-ﬁut’aﬂpruxﬂﬁ. 507

TIC
0_" T "|" T "'|" |"'|" |""|""|IIII
15.0 16.0 17.0 18.0 18.0 20.0
min
Q®Ebm-= 0. 2m  ERfRE% 2uL/1mL/0. 095m®)
intensity
150000 {150,000
100000+
a00004
_,ﬂ—»——— | -TIC
0_" |"'I""I""I""I""I""I""I""I""
15.0 16.0 17.0 18.0 18.0 20.0
min

Q®ESm-= 0. 2m 3RS (2uL/1mL/0. 204m®)

WRBIFA7a~ T A

—203—



intensity

intensity

150000 {150,000

100000+

50000+

:{(th-f-mr-y’liﬁu

—TIC

150000 (150,000
100000H
500004
2
=
2 TIC
0_" T II|"'I""|""I""|'"'I""|""IIIII
15.0 16.0 17.0 158.0 19.0 20,0
min
Q®E5m-= 0. 2m  6BFRE# (2ul/1mL/0. 203m®)
intensity
150000 (150,000
100000+
500001 \
&
1 = TIC
0_""I""|""I' "|""I""|'"'I""|""I""
15.0 16.0 17.0 18.0 18.0 20,0
min

QE5m-E X0.2m 28 #13:30 (2uL/1mL/0. 210m°)

Q=515 0. 2m

20,0

min

R
19.0

— ]
[l
= ]

1B#13:30 (2uL/1mL/0. 208m®)

intensity
150000 {150,000
100000+
500004
E
£
= TIC
Y S
0_""I""l" 'I'"'|""|""|""|""|""I'"'
15.0 16.0 17.0 18.0 18.0 20.0

min

@=5m-= &0.2m 3B #13:30(2uL/1mL/0. 211m*)

M7—2 @7A4r G B 7u~ 77 A
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intensity
150000 (150,000

100000+

50000+

T
18.0 16.0 17.0 18.0 19.0 20,0

min

TiC

@=5m-= &0.2m  5H#%13:30 (2uL/1mL/0. 207m®)

intensity
150000 (150,000
100000+
50000
- 5
[y
0_'-'-|-'-'|""|""|" T T TTTT

@mH5m-= 0. 2m

min

15.0 16.0 17.0 18.0 15.0 20,0

148 #13:30 (2uL/1mL/0. 205m®)

TiC

intensity

150000 {150,000

100000+

50000+

; \thhuf-erum’lﬁ 553

| ~TIC

20,0

@=b5m-=&0.2m  7H#%13:30 (2uL/1mL/0. 130m*)

M7—-3 @74 R Ik L7u~ 77 A
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intensity

150000 (150,000
100000+ =
=]
Z
500004
0_" I"'|I I"'|""I""|'"'I""|""IIIII
15.0 16.0 17.0 158.0 19.0 20,0
min
Q@®Ebm-= =1.5m &g (2ul/1mL/0. 191m®)
intensity
150000 (150,000
100000+
50000 \
N TIC
III""|""I""|""IIIII
18.0 18.0 20,0
min

@=5m-= 1. 5m

185 % (2uL/1mL/0. 203m®)

X7—4 @742 (HME)

—206—

intensity

150000 {150,000

100000+

50000+

%ﬁmr-xﬂiﬁli

—TIC

AR
19.0

20,0

min

Q@®ESm-5 =1.5m ERfMER (2ul/1mL/0. 094m®)

intensity
150000 {150,000
100000+
500004
“ MML.M
A L L KA A AR A R AL
15.0 16.0 17.0 18.0 18.0 20.0

min

Q=Ebm-Z &1.5m 3R 2uL/1mL/0. 202m®)

BT H7u~ NI T A

TIC



intensity

intensity
150000 (150,000

150000 {150,000

100000+ 100000+

50000+ 50000+

iBthufanpruxflﬁ.ﬁZ:i—
%Eth-f-mr-xﬂ.i 500

TIC

—TIC
0_'"'I""|""|""|""I""|'"'I""|""I"" 0_'"'I"''|""|""|""I""|" |""|""|IIII
15.0 16.0 17.0 18.0 19.0 2_0,0 15.0 16.0 17.0 18.0 158.0 2_0,0
min min
Qm:5m-E= =1.5m  6BFRE# (2ul/1mL/0. 199m®) Q@®Ebm-E &1.5m 1H#13:30(2uL/1mL/0. 202m*)
intensity intensity
150000 (150,000 150000 {150,000
100000+ 100000+
50000 500004
E
E
2 e | YN A RS
0_'"'I""|""|""|""|""|'"'I""l""l"" 0_'"'I"''|""|'"'|""|""|""|"''|""|""
15.0 16.0 17.0 18.0 19.0 20.0 15.0 16.0 17.0 18.0 18.0 20.0
min min
Q@®ESm-Z &1.5m 2B#13:30 (2uL/1mL/0. 207m®) Q@®E5m-=m &1.5m 3B#13:30(2uL/1mL/0. 205m*)

M7—-5 @7A4r R Ik 7u~ 77 A
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intensity intensity

150000 T150,000 150000 150,000
100000+ 100000
50000 50000 \
1 | TIC ;HJLE TIC
0_'"'I""|""I""|""I""|'"'I""|""I"" 0_'"'I"''|""I'"'|""I""|""I"''|""I""
150 160  17.0 180 190  20.0 15.0 160 17.0 180  19.0 20,0
min min
Q@=Ebm-E &1.5m 5H#13:30(2uL/1mL/0. 207m?) Q@®Ebm-E &1.5m 7TH#13:30(2uL/1mL/0. 207m*)
intensity
150000 T150,000
100000+
50000
1 Z TIC
0_'"'I""|""I""|""I""|'"'I""|""I""
150 160 170 18.0 190  20.0
min

@mbm-im&1.5m 148 #13:30 (2ul/1mL/0212. m*)

M7—6 Q@7A4r R ICBJL7u~ 77 A
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intensity

150000 (150,000
100000+
E
50000+ u%
i~
TIC
O IRARAN R RERRN L T rrTTprTTTTTTTY
15.0 16.0 17.0 18.0 19.0 20.0
min
@10m- 0. 2m  #Fh (2uL/1nL/0. 192m)
intensity
150000 (150,000
100000+
50000
%
%
£
.
TIC
e R ERARARAA pAARAR
15.0 16.0 17.0 18.0 19.0 20.0
min

@=10m-F 0. 2m

TEERE# (2uL/1mL/0. 207m®)

intensity

150000 {150,000

100000+

50000+

?E\‘-hufﬂﬂp]‘uy‘rlﬁ.ﬁﬂ?

TIC

R AREREEIEE L
19.0 20,0

min

@10 &0.2m  EFFE (2uL/1nL/0. 093m°)

intensity

150000 {150,000

100000+

50000+

~TIC

AR ARA
19.0 20,0
min

Q@HE10m-= 0. 2m  3BERA#& (2ul/1mL/0. 202m*)

M7—=7 @7A4r G ICBJL70~ 77 A
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intensity

150000 {150,000

100000+

50000+

TIC
0_" T "'|""|""|""I""l'"'I""l""l""
15.0 16.0 17.0 18.0 19.0 20.0
min
@®E10m-= 0. 2m 6B (2uL/1mL/0. 201m®)
intensity
150000 (150,000
100000+
50000
=
2
=
& TIC
0_" |"'|"'|"'|' |"'|" I""l""lIIII
15.0 16.0 17.0 18.0 19.0 20,0
min

Q= 10m-= 0. 2m

28713:30(2uL/1mL/0. 213m®)

intensity

150000 {150,000

100000+

50000+

[Eﬁthuflmr-xﬂi 502

L ~TIC

@=E10m-5 0. 2m

intensity

aREA
20,0

min

AR
19.0

=7
[l
= ]

1B #13:30 (2uL/1mL/0. 205m°)

150000 {150,000

100000+

50000+

TIC

T IIIIIIII""""I""l""lIIII
19.0 20,0
min

@E10m-EX0.2n 3B #13:30 2uL/1mL/0. 211m)

M7—-8 @7A4r R kL7270~ 77 A
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intensity intensity

150000 (150,000 150000 (150,000
100000 100000+
50000+ a0000+ -
] l T -,,_JA_IW/HC
0_'"'I""|""I""|""I""|'"'I""|""I"" 0_'"'I""|""I'"'|""I""|""I"''|""I""
15.0 16.0 17.0 18.0 18.0 2_0,0 15.0 16.0 17.0 18.0 18.0 2_0,0
min mln
Q®10m-F &0.2m 5H#13:30(2uL/1mL/0. 205m?) Q®E10m-F x0.2m  7H#13:30 (2uL/1mL/0. 208m*)
intensity

150000 150,000

100000+

50000+

e e

15.0 16.0 17.0 18.0 19.0 20,0
min

@HE10m-EX0.2n 148#%13:30 (2uL/1mL/0. 204m°)

M7—9 @7A4r G B 7u~ 77 A
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intensity

150000 150,000
100000+
50000 g
=
TIC
0_" T II|""I""|""I""|'"'I""|""IIIII
1.0 160  1T.0 180 190  20.0
min
Q@®E10m-5 =1.5m &t (2ul/1mL/0. 194m®)
intensity
150000 150,000
100000+
50000 \
= TIC
III""|""I""|""IIIII
180 190 20.0
min

Q@®10m-= 1. 5m

1B (2uL/1mL/0. 206m®)

intensity
150000 {150,000
100000+
500004
e
15.0 16.0

@®HE10m-= 1. 5m

intensity

+—TIC

=
2
2
Vi)
LR LS LU LN UL LN LU L
17.0 18.0 19.0 20,
min

BARE % (2uL/1mL/0. 094m®)

150000 {150,000

100000+

50000+

L LR LR LS I IR
15.0 2000

min

Q@FE10m-Z =1.5m  3FERA#& (2ul/1mL/0. 203m*)

M7—-10 @74 G B35 u~ 7T 4
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TIC



intensity

150000 {150,000

100000+
50000+
E
1 £
__JJl £
1 = |L—~TIC
O IRARAN R RERRN L T rrTTprTTTTTTTY
15.0 16.0 17.0 18.0 19.0 20.0
min

@®E10m-= &1.5m 6B (2uL/1mL/0. 201m®)

intensity

150000 150,000

Etfiofenpros/16.531

TIC

100000+

50000+
e
15.0 16.0

Q= 10m-= 1. 5m

e
15.0

20,0
min

intensity

150000 {150,000

100000+

50000+

iﬁthuf'npruxflﬁﬁﬂl

@=E10m-5 & 1. 5m

R
19.0

20,0

min

1B #13:30 (2uL/1mL/0. 209m®)

intensity
150000 {150,000
100000+
500004
TP NI AN ]
0_'"'I"''|""|""|""I' "|""|""|""I""
15.0 16.0 17.0 18.0 18.0 20.0
min

28#13:30(2uL/1mL/0. 211m®)

M7—11

Q®E10m-F =1.5m 3H#13:30 (2uL/1mL/0. 213m®)

—213—
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intensity

intensity
150000 (150,000 150000 {150,000

100000+

100000

50000 50000
1 2 z
I AE TIC = TIC
0_'"'I"''|""I""|""I""|'"'I""|""I"" 0_'"'I"''|""I'"'|""I""|""I"''|""I""
15.0 160 1.0 180 190  20.0 15.0 160  17.0 180 190 200

min min

Q@®E10m-=1.5m 58 #13:30(2uL/1mL/0. 218m°) Q@®E10m-Z=1.5m 7H#13:30(2uL/1mL/0. 206m*)

intensity
150000 (150,000

100000+

50000+

| ~TIC

] ?th-mr;ﬂ!

15.0 20,0

min

—
o
=
—
[ar]
L]
—
-1
o
—
[wal
o

Q@HEI0m-EE1.5m 148#%13:30 (2uL/1mL/0. 202m°)

M7—12 @74 GR) BTS2 u~ 7T 4
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intensity

150000 {150,000

100000+

50000+

. Lthufanprumﬁﬁzs

—TIC
0_ T '|""|""|'"'I""l""l""
15.0 16.0 17.0 18.0 19.0 20.0
min
@E25m-B &1, 5m  &Feh (2ul/ImL/0. 189n°)
intensity
150000 (150,000
100000+
50000
5
%
1 £
'H_J 7 TIC
0_""|""|""|' "|""|""|'"'I""l""l""
15.0 16.0 17.0 18.0 19.0 20.0

Q@ 25m-= 1. 5m

min

1B (2uL/1mL/0. 206m®)

intensity

150000 {150,000

100000+
500004
- :
. §
2
B V4]
O LERR RERRE LR R T TITTTTTTTTTTT
15.0 16.0 17.0 18.0 19.0 20,
min

@®25m-= &1. 5m

intensity

+—TIC

BARE % (uL/1mL/0. 102m°)

150000 {150,000

100000+

50000+

iB\‘.thaﬂp]‘ux,-"].ﬁ 516

0

EaRRE
15.0

20,0
min

Q@®E25m-= &1.5m  3pERA#& (2ul/1mL/0. 208m*)

M7—-13 @74 GRfl) BTS2 u~ 774
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intensity

150000 {150,000

100000+
50000+
- g
s
1 Uil | ~TIC
O IRRREN RN L TTTTTT TTTTITITTTToTT
15.0 16.0 17.0 18.0 19.0 20.0
min

@®E25m-= &1.5m 6B (2uL/1mL/0. 205m®)

intensity

150000 150,000

100000+

50000+

(?

1 I|Bthofenproz/16.533

Q®25m-F &1.5m  2H#13:30 (2uL/1mL/0. 209m?)

e
15.0

20,0
min

TIC

intensity

150000 {150,000

100000+

50000+

:Eh-f-mr-y’liﬁlz

H—TIC

@®E25m-5 & 1. 5m

intensity

AR
19.0

=7
[l
= ]

20,0

min

1B #13:30 (2uL/1mL/0. 205m°)

150000 {150,000

100000+

50000+

TIC

T IIIIIIII""""I""l""lIIII
19.0 20,0
min

Q®25m-F &1.5m  3H#13:30 (2uL/1mL/0. 226m*)

M7—14 @74 GR) BTS2 un~ 7T 4
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intensity

150000 {150,000

100000+

50000+

TiC

e
19.0

20,0

min

Q@®E25m-==1.5m 5B #13:30(2uL/1mL/0. 224m°)

intensity

150000 150,000

100000+

50000+

] Eﬁﬂlumrsﬂ!

| ~TIC

Q@ 25m-= 1. 5m

._.
(5
=

15.0

20,0
min

1487#13:30(2uL/1mL/0. 220m®)

intensity

150000 {150,000

100000+

50000+

; ;[Etthsﬂpruxf’lﬁ.EES

AR
19.0

20,0

min

Q@®E25m-m==1.5m  TA#13:30 2pL/1mL/0. 217m®)

M7—15 @74 GRfl) IBFS57u~ 774
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intensity

150000 {150,000

100000+

50000+ \
| O S = Y\
0_""""'I""""'I"" AN LR R
18.0 16.0 17.0 18.0 19.0 20,0

min

Q#®50m-= =1.5m  FTHA13:30 (2uL/1mL/0. 184m°)

intensity

150000 150,000

100000+

50000+

&Bthufanpru#lﬁ 524

e
15.0

20,0
min

Q@®50m-= &1.5m  Bfep (2ul/1mL/0. 181m?)

TiC

intensity

150000 {150,000

100000+

50000+

TIC

EaRRE
15.0

20,0
min

Q®50m-= =1.5m  BRFEH (2ul/1mL/0. 093m?)

M7—16 @74 GRf) B F57un~ 7T 4
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intensity intensity

150000 (150,000 150000 {150,000
100000H 100000+
500004 \ 500004
1 = TIC | R TIC
0_""I""|""I'"'|""I""|'"'I""|""I"" 0_""I""|""I'"'|""I""|""I""|""I'"'
15.0 16.0 17.0 158.0 19.0 2_0,0 15.0 16.0 17.0 15.0 19.0 2_0,0
miln min
@®E50m-= &1.5m  1EE# (2uL/1mL/0. 187m®) @®E50m-= &1.5m 3R (2ul/1mL/0. 187m®)
intensity intensity
150000 (150,000 150000 {150,000
100000+ 100000+
500004 S00001 \
__AL_,\_,_,‘L—J‘-_A_A‘_A*_/\_A_[L/T[C -‘,___A-II\ N TIC
0_'"'I""|""I""|""I""|'"'I""|""I"" 0_'"'I"''|""I'"'|""I""|""I"''|""I""
15.0 16.0 17.0 18.0 18.0 20,0 15.0 16.0 17.0 18.0 15.0 20,0
min min
@E50m-= &1.5m 6B (2ul/1mL/0. 187m3) Q@®E50m-5 &1.5m 1H%4:00(2uL/1mL/0. 187m*)

M7—17 @74 GR) BTS2 u~ 7T 4
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intensity

150000 {150,000

100000+

50000+

@®E50m-= & 1. 5m

e
19.0

20,0

min

intensity

150000 (150,000

100000+

50000

NP N A
e N EAAARAR AR
15.0 16.0 17.0 18.0 19.0 20.0
min

@®50m-5 &1.5m 3H#13:30 (2uL/1mL/0. 187m%)

TIC

18#13:30 2uL/1mL/0. 187m%)

TiC

intensity
150000 {150,000
100000+
500004 ]
<
2
2
s}
me._.“__n___*/ﬂc
0_" LI LRELLEE L LY L LN LN L
15.0 16.0 17.0 18.0 18.0 20.0
min

Q@®E50m-==1.5m 28 #13:30 (2uL/1mL/0. 187m®)

intensity
150000 {150,000
100000+
500004
2
| & TIC
0_" T "|"'I'"'|""I""|""|""|""I""
15.0 16.0 17.0 18.0 158.0 20.0

min

Q®50m-F =1.5m 5H#13:30 (2ul/1mL/0. 187m?)

M7—-18 @74 GRfl) ICBFL57u~ 7T 4

—220—



intensity

intensity
150000 (150,000

150000 {150,000

100000+ 100000+

50000+ 50000+

TiC

; ?Etmfsmﬂrux;’lﬁ.ﬁﬁz
] F‘EtthlnPrum’lﬁﬂl

TIC
0_ T T LR L L 0_""I""|""I T [TTTTrrrT T TTTT
150 160 17.0 180 190  20.0 150 160 17.0 180 190  20.0

min min

Q@®50m-==1.5m  7H#13:30 (2uL/1mL/0. 187m°) @m50m-= &1.5m  14H#13:30(2uL/1mL/0. 187m*)

M7—19 @7A4r GRfl) BTS2~ 774
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intenzity
150000 (150,000

%
E
2
100000 Z
&}
50000

__,-JL—L L -TIC

L L L L B I R I UL LI R
12.0 16.0 17.0 18.0 19.0 20,0

min

@' mESm-FE1.5m B (2ul/1mL/0. 204m°)

intensity
150000 (150,000

100000+

50000+

TIC

R B A
19.0 20,0

min

@ mM®ESN-FE1.5m 1% 2ul/1mL/0. 207m°)

—
o

=%
=]
=%
q (Bthoferproz/16.456

._
-
]
=
@™
=)

ntensity

150000 {150,000

100000+

500004

EEtthleruxﬂﬁ 508

TIC

16.0 17.0 18.0 19.0 20,0

min

@ mMESN-EE1.5m BMER (2uL/1mL/0. 109m*)

intensity

150000 {150,000

100000+

500004

—TIC

rr T
16.0 17.0 18.0 19.0 20,0

min

@ mESN-ES1.5m  3EERAE (2ul/1mL/0. 209m®)

M8—1 @ J4r (FERM) ZBTD7u~ 7T
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intensity

intensity
150000 (150,000 150000 {150,000

100000+ 100000+

50000+ 50000+

Ethofenproz/16.524

lgF\‘J‘lUflm:ll‘ux,-"].E5DD

—TIC

——TIC
0_'"'I""l""l'"'|""|""|'"'I""l""l"" 0_" T | 'I""| T |""|""IIIII
15.0 16.0 17.0 18.0 19.0 20.0 15.0 16.0 17.0 18.0 158.0 20.0
min min
@’ mESMm-= &1.5m  6B%FRE% (2ul/1mL/0. 204m®) @ mEESM-=&1.5m 1H#13:30 (2ul/1mL/0. 204m*)
intensity intensity
150000 (150,000 150000 {150,000
100000+ 100000+
50000 500004
é -
& 1 2
5 E
X > ._._....rm_..JL_E TiC
0_""I""l""l'"'|""|""|'"'I""l""l"" 0_'"'I"''|""|'"'|""|""|""|"''|""|""
15.0 16.0 17.0 18.0 19.0 20.0 15.0 16.0 17.0 18.0 18.0 20.0
min

min

@ FEbm-FZ=1.5m 2H#13:30(2ul/1mL/0. 210m?) @ mESm-Z=1.5m 3H#13:30(2ul/1mL/0. 211m?)

M8—2 @ J4r (FEHEM) ZBiFD7u~ 7T A
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intensity

150000 {150,000

100000+

50000+

; "\Ethufinmuxflﬁﬁd-ﬂ

=T

20,0

min

TiC

@ mEESM-m&1.5m 5B#%13:30 (2ul/1mL/0. 212m%)

intensity
150000 (150,000
100000+
50000
=
- 3
- g
=
[T N SV TIC
0_""I""l""l""l"" TTT LI B
15.0 16.0 17.0 20.0

intensity

150000 {150,000

100000+

50000+

] jE\‘J’lufEilllZ']‘UJ;f"]. 6. 554

=T

TIC

@ mESN-FE1.5m TH#13:30(2ul/1mL/0. 193m°)

min

@ mMHESN-EE1.5m 148 #13:30 (2ul/1mL/0. 209m®)

M8—3 @ J4r (FEHM) ZBiTD7u~ 7T A

—224—



intensity

150000 {150,000
100000+
=
g
=
V&)
50000+
—TIC
O LR R L T T S| e bl
18.0 16.0 17.0 18.0 19.0 20,0

min

@ BmEIOm-FS1.5m A (2ul/1mL/0. 204m°)

TIC

intensity
150000 (150,000
100000+
50000
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